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Q2 (a) Prove that cosA.cos(60°-A).cos(60°+A) = %cosBA and deduce that

€0s20°.c0s40°.cos80° = 1

Answer
e Love :

e - cos A ) oS (602A). (s (Lo°— A))
= Gt A V(oA — Bins SwW &o° ) Ty
> T T RS
—= CesA I(‘&gm = Z] ’ 2
.‘-,’; Y = =l
= L Pattll —a ceth'] =B L= fitse

Meyd ?vx"ﬂ'{va? A = 20Y we Gt

— .L- ébb el

oz 22 Cpe( Ga”—207):" coc ( Go'+227) = = (o {
‘ o e = 7 e
(e . Cpeso « COSHD - ce2 220’ = = > o

Herc = e K‘ZQ%Q&_ .

Q2 (b) If A, B, C are the angle of a triangle, then prove that cosA + cosB + cosC =
1+ 4sinA/2. sinB/2 .sinC/2
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Q3 (a) Find the co-efficient of x** in the expansion of (x“—%} . Also find co-
X

efficient of x*'.
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Q3 (b) The sum of first three terms of a G.P. is 16 and the sum of the next three
term is 128. Find the sum of the n™ term of GP.
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o4 (@) Showthat, |50 ~SE|_[ 1 -tmér2] 1 wne/2]”
"|sing  cosd | [tanf/2 1 ~tang/2 1
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Q5 (a) For what values of K are the three lines 4x + 7y-9 =0, 5x + ky + 15 =0 and
9x -y + 6 =0 are concurrent.
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Q5 (b) Find the equation of the two lines passing through the point (1, -1) and
inclined at an angle of 45° with the line 2x -5y +7 = 0
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Q6 (a) Find the equation of the circle which passes through the intersection of two
circles, x> + y*-8x — 24y +7 = 0, and x* + y? -4x + 10y + 8 = 0 and has it

centre on the x-axis.
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Q6 (b) Find the centre, length of the axes, eccentricity, directrices, foci and the
length of the latus rectum of the hyperbola 9x* -16y* = 144
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Q8 (a) Evaluatej i +12X);2 " 2)dx
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XSin x
Q8 (b) Evaluate j 2 dx
+c0s? X
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Q9 (a) Solve the initial value problem (1 + x) +2xy 4x? =0, when y(0) = 0.
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Q9 (b) Solve x(y-x) % =y(y+X)
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